

UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications)
POSTHARVEST HORTICULTURE TRAINING AND RESEARCH CENTER (PHTRC)

UPLB BAC SECRETARIAT BY: ____ DATE: 2-15-22

FEB 2 3 2022 - 10AM

UPLB-RQ- 2- 047 -22-RES DEADLNE OF SUBMISSION

UPLB-RQ-30057

DEADLINE OF SUBMISSION:

Suppliers Name:		
oupplote Harris.	Date	January 24, 2022
	Fund Code:	N828021
	MOP:	Shopping
	Contact No:	(049) 536-3259; 536-0081
	Contact Person	
		Kristine Jayne L. Eusebio

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

Note:

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
 Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
- Countation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
 Quotations exceeding the Appoved Budget for Contract shall be rejected.
 Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation 7. Others:

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT		OFFERED SPECIFICATION Suppliers must state here the detailed fechnical specifications of their offer against each of the individual parameters of each requirements.	QUOTED UNIT	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
1	Power Bank	Branded and brand new powerbank, 10000mAh, Li-Polymer, Input USB-C: 5V/2A, Input Micro-USB: 5V/2A, Total Output: 5V/2A, Output USB 1: 5V/2A Output USB 2: 5V/2A, Charging Time: 5 Hours; Sealed upon delivery and inspection; Warranty: 6 months.	рс	10	1,200.00	12,000.00				
2	Pocket Wifi	Brand new, for Smart Communication, prepaid, LTE-A, can connect up to 10 gadgets and share data, can access high-speed internet, LTE and 5G network; same brand multi-cut sim, LTE and 5G capable included; Sealed upon delivery and inspection; Warranty: 1 year.	set	12	2,500.00	30,000.00				
3	Pocket Wifi	Brand new, for Globe Telecom, prepaid, LTE-powered, speed up tp 42mbps, portable wifi device with up to 48 hrs battery life; same brand multi-cut sim, LTE and 5G capable included; Sealed upon delivery and inspection; Warranty: 1 year.	set	3	2,500.00	7,500.00				

	Line	0					
4	UPS	Branded and brand new, Output: Max Configurable Power (Watts): 360 Watts / 650VA Output Frequency (sync to mains): 50/60 Hz +/- 1 Hz Sync to mains Topology: Line interactive Input Connections: 4 x NEMA 5-15P Waveform type: Stepped approximation to a sinewave Transfer Time: 6 ms typical: 10 ms maximum Input: Input frequency: 50/60 Hz +/- 3 Hz Auto-sensing Input voltage range for main operations: 140 - 300V Number of Power Cords: 1 Type of Input Protection Required: Circuit breaker Batteries & Runtime: Battery type: Same brand as UPS offered, Lead-acid Typical recharge time: 8hour(s) Nominal Battery Voltage: 12 V Battery Volt-Amp-Hour Capacity: 84 Communications & Management Control panel: LED Status display with on line: on battery Audible Alarm: Alarm when on battery: distinctive low battery alarm: overload continuous tone alarm Surge Protection and Filtering: Surge energy rating: 1560ules Audible noise at 1 meter from surface of unit: 40.0dBA Protection Class: IP20 Conformance: Approvals: EN/IEC 60204-1, EN/IEC 60204-2 Product manual, power cables included; Sealed with official brand seal upon delivery and inspection; Warranty: 2 years on repair or replace.	un	4	4,500.00	18,000.00	
5	Wireless Mouse	Branded and brand new wireless silent mouse, compatible with Windows 7,8, 10, with micro-presize scroll wheel, advance optical tracking technology, retractable, V-Track mouse works anywhere without a pad. Sealed upon inspection; Warranty: 6 months.	pc	10	800.00	8,000.00	
6	Wireless Keyboard	Branded and brand new wireless keyboard, dual mode backlight rechargeable, MX keys, 109 keys, 2.4GHz Bluetooth-compatible, 10m range, built-in rechargeable lithiumion battery; Sealed upon inspection; Warranty: 6 months.	рс	5	1,000.00	5,000.00	

7 Ext	ernal SSD	Branded and Brand New,	рс	2	7,000.00	14,000.00		
		Capacity: 500 GB Interface: SATA 6 Gbps Read/write speeds: up to 560/530 MB/s 560 MB/s Sequential Read 530 MB/s Sequential Write or higher Compatibility: Windows10/Windows						
		8/Windows 7/Windows Server 2003 (32 bit and 64 bit), Vista (SP1 and above), XP (SP2 and above), MAC OSX and Linux Sealed with official brand seal upon						
		delivery and inspection. Warranty: 1 year on parts and services						
8 LED		Branded and Brand new, LED monitor, 24 inch 16:9 screen size, Full HD (1920x1080) at 75Hz resolution, IPS LED panel type, AMD FreeSync, 4ms gray to gray in Extreme mode, LED edgelight system, 72% NTSC (CIE 1931) color gamut, BFR/PVC-free, arsenic-free glass, 3-sided bezeless 16.7 million colors, 250cd/m2 (typical) brightness, Ports: 2 x HDMI 1.4 port 1x Audio line-out port, Tilt (-5 to 21 display position adjustments, vesa mount: yes; must be same brand as Existing Dell Desktop PC. Warranty: 1 year on parts and services	un	2	14,000.00	28,000.00		
201 1 00 0000	peakers	Branded and brand new, Power output: RMS 2.5Wx2+5W(THD=10%) Signal-to-Noise Rate: (Amplifier) >=85dBA Input Impedance: 10KOhm Bass driver unit: 4Inch Woofer with aluminum voice coil (D106 mm), Magnetically Shielded Tweeter Unit: 2.5Inch Tweeter with heat treated paper voice coil(D73 mm), Magnetically Shielded Power requirement: 220V, 50/60Hz,15W Dimensions Subwoofer: 191(W) x 183(H) x 222(D)mm Dimensions satellite: 83(W) x 108(H) x 80(D)mm Weight: Approximately 3.1Kg Power Requirement: 220V-240V ~, 50/60Hz Warranty: at least 6 months	set	1	2,500.00	2,500.00		
					TOTAL ABC	125,000.00		

Reviewed and Checked By:

Reviewed and Checked by:

Mark Efrage M. Gironella

BC TWG

Please quote at your government price (including VAT) and state that the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadline stated herein.

KRISTINE JAYNE L. EUSEBIO

TERMS AND CONDITIONS:

. . . .

- TERMS AND CONDITIONS:

 1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.

 2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the delivered supplies.
- 3. Delivery period within ______ calendar days.

 4. Award of contract shall be made to the lowest quotation wich compiles with the technical specifications, and other terms and condition stated herein

 5. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.

 6. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.

Requirements for Suppliers (GPPB Resolution No. 21-2017)

REQUIREMENTS	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53,10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Negotiated Procurement- Emergency (Section 53.2)
Mayor's/Business Permit	1	/	1	7	,
PhilGEPS Registration Number	1	1	1		-
Professional license/ CV (consulting services)	- '		- '	/	/
PCAB License (for Infrastructure)	-	/		/	
Income / Business tax returns (except for government agencies as lessor)		/			
		FOR ABC'S ABOVE 500K	/	/	FOR ABC'S ABOVE 50K
Omnibus Sworn Statement		FOR ABC'S ABOVE 50K			FOR ABC'S ABOVE
NFCC for Infrastructure with ABC above Ph500k		/			FOR ABC'S ABOVE

				50K
After having carefully read Name of the Company:	and accepted your General Conditions, I/W	e quote you on the Item at prid	ces noted above.	
Address:			Tel. No. :	
			Fax No. :	
Signature over Printed Name of Representative:			Email Address:	
Position:			Date:	